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Why Did the Backpacker Carry a F1asMi{ht?
Write the exercise letter in th L’’ox containing the numl2er of the answer.

Find the greatest common factor. Find the greatest common factor.
Olox+35 e5x3 QlOa2b+16ab2 ØcL2b

04x2—15x
4x
Olla3b—2a2b4 ‘ ‘

O3b
0 8x e a4b

0 20x2 + 36x 0 36a4 + 27a3b 15ab3

0 11x3 — 2x2 02x2 03a2b2+18ab3 — 33b4 e9a3

1Ox2 O2ab
0 24x3 — 64x2 + 40x ® x

4a4b2 —9a3b3 +a2b4
®a2b2

0 60x4 + 70x3 — lOx2 x2 Q 75a5b3 +30a3b5 60ab7 0 5ab2
I.
. iS ‘ s• .• • I. •I• I••a•. I. . I• .•

Simplify the expression. Simplify the expression.
8t+12 08a2b+3ab2w ab

2t2—9t 12ab2—4Oa2b
w w 4ab

0 2 ÷ 20 t 0 a5b4 + 49a4b5
5t 7a2b

0 6t3 — 1 1t2 0 —0a3b + 30ab3
t2 —2ab

0 4t3 + 18t — lOt 0 18a7b5 +45a5b3 +9a3b
2t 9a3b

0 —4 — 60t3 + 3t2 0 a4b4 — 3a4b5 — 6a3b6
—3t2 3a2b3

e6t—11 3t2+2Ot—1 a3b3+7a2b4®5a2b—a2b2—2ab3

e3t—11 2t—9 O8a+3b e2a4b2+5ab2+1
e2t+3 e3t—1Ot—1 05a2—15b2 2a4b4+5a2b2+1
03t + 4 • 21? + 9t — 5 c 3b — lOa ® 5a2b 2a2b4 + ab3
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